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2.68 The velocity of a point is v = 2i + 3/°j (fi/s). At 7 =0 its

position is r = —i + 2j (ft). What is its position at ¢ = 2 5?
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2.80 A zoology graduate student is provided with a bow and an

arrow tipped with a syringe of sedative and is assigned to measure
the temperature of a-black rhinoceros 1Diceros bicornis). The
range of his bow when it is fully drawn and aimed 45° above the

zontal is 100 m. A truculent rhino suddenly charges straight
d him at 30 km/hr. If he fully draws his bow and aims 20°

e the horizontal. how far away should the rhino be when he
releases the arrow? .- '
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If y = 150 mm. dv/dr = 300 mm/s. and d°v/dr" = 0. what
the magnitudes of the velocity and acceleration of point P?
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